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s FGRH)E s FGRH)E s FGRH)EE
EEMEBO(F B BEERM 6,000,000 6,000,000
EEBREER 650,000 SEABRYLEBSICFERBEEERITEN
EEMBQ(EEBEERE) 5,350,000 6,000,000

=EXMTQ.1.15

HEURA 5,263,000 [(BERKE 10%+E4EFEE£18%) +2=14%)]
165 1S ERR 1,595,000
i Red ki 0 3,668,000
[Fr#5iERR]
R 380,000 380,000
ERFE 199,200 16,600 x 12/ B
HRELEES) 473,670 =#&H x 9%
EREERR 532,630 ERBERRIRTEHTHE, TREURLS R
HRBEREFEIR-NEE) 263,150 =#5%1 x 5%
INGT 1,111,830 1,116,820
Z51FT#5E (%) 4,238,170 420,134 2,551,180 82,736 | 1,686,990  -337,398
EREF 423817 255,118 =FFFx10%
EANERT 71,000 REHE 21,000 &K¥ 150,000
BAEER 155,000 = (EXMBED—2905H) x 5%
HESE 998,951 408,854 -590,097
HRXZILEE 731,830 1,473,640 741,810[=tt SRIEFHERR x 2
#5| 151,713|RAF R EF vy a JO—ELE
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